= o
A & 0l & AF 2 E A A
SM: HPD
HE: NYNE 29
o9l 58F MY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TH < 2t 4,628,888 4,854,109 A 225,221
= 68,602
[ia 4,560,286
NEME 29 391,495 484,303 A 92,808
= 47,098
[ia 344,397
SEX NE2Z 286,825 307,743 A 20,918
= 47,098
[ia 239,727
KYA 2ot M 40,901 40,775 126
201 Let24E] 32,390 29,818 2,572
01 At 22l 16,884 16,942 A58
o XA HEE 50,000& = 21& 1,050
o NgM &% H&d 100,000& * 7& 700
o XA ZAMER L HA A
50,000& * 7@ 350
o XYM &8 B8 EHE ¥ L2AEH(6F)
77,000 * 720K 5,544
o NYHMAAAAS (UMEHSAA BNESE
SO . ZHEda 0dMF Y MEEE
SHA Q) 70,0003 = 10¥ =« 23| 1,400
o XA NYEL=E YRFL SH|
8,000& * 78 » 60 3,360
o MM 2 A2FF S|
8,000& * 78 « 80¢ 4,480
02 =224l 15,506 12,876 2,630
o XA DN E U2 25 RERS
430 * 14,0000H 6,020
o NEgAH DXM &2 2B3(SHIS
430 * 15,0000H 6,450
o HAANFI GHIXM SL(SII)
2,530& = 1000# = 123 3,036
202 04 tl 3,800 6,700 22,900
01 = LH 4 Hi 3,800 6,700 A 2,900
o WAMIZE =AY SEHAME 2=
20,0003 = 78 = 20 2,800
o Yol MSXZAM 50,000& = 2% = 10 1,000
306 £ 3 4,711 4,257 454
01 &3 4,711 4,257 454
o NgMERE EH= 4,711,000& = 1A 4,711
ANEA a2 X2 131,749 154,328 A22,579
201 et 24,400 23,680 720
01 At 22l 18,400 17,680 720
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SM: HPD
HE: NYNE 29
ool 52X NI2Y CEREY
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o XM &8 =108 ZgH EH 8 &2
= 300,000& = 8K 2,400
o XNEA ==& d&M4DXAM HE 11,200
- et LEIOXAM 80,0008 * 102HA » 58 4,000
- SELXNA 80,000& = 45%tA * 2& 7,200
o DXM &8g ZelH(S82l) tHE LAl
400,000 = 1& = 128 4,800
02 2324l 6,000 6,000 0
o DXAN EHE ZeH(SEI) 2AE+
500,000& * 123l 6,000
308 XXM SO A 41,443 41,601 A 158
M3 2S00HetE & X A EA I 41,443 41,601 A 158
o XA FEMY /Y 23|
40,265,000& » 1A 40,265
o XA XA F2AAE 2D (RAAES)
1,178,000& * 14! 1,178
403 MtXISHH S0l & 65,906 89,047 A23,141
02 S 2SO HEAEE 2 E AL 65,906 89,047 A 23,141
o XA XIZA F2AAE 25
65,906,000& 14l 65,906
NYASAH BAER = 16,319 16,572 A 253
201 ¢er24l 16,319 16,572 A 253
01 At 2t 2l 11,352 12,772 A 1,420
o NEASH SEADHH £X 7,204
- INME 2L AXHI(10MB JIE)
1,640,000 = 13l 1,640
- S43 4l 1,682,0008 * 2& 3,364
-N3UERD 2ZA 2o FY|
2,200,000& = 14 2,200
o NEALSH 222 M 3,348
-cl & 300& = 5,0000H 1,500
- 28 Sd3tE ¥ YA
77,0003 = 1200 = 23l 1,848
o KNEASH MIAYRENM WA 800
- NgASH IXA 80,000&  10%FA 800
02 =224l 4,967 3,800 1,167
o NYASH ADLHRA Za2HE 4,967
- NASH MIOYREAN S
430& * 10,0000H 4,300
- NLASH A0 HHE LS
430& = 1,5500H 667
HE & JFAZ A ALY 97,856 96,068 1,788
= 47,098
i 50,758
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25 M
HE: NYNE 29
ool 52X NI2Y CEEEED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 97,256 94,868 2,388
= 47,098
= 50,158
01 AP 22| H| 97,256 94,715 2,541
o e MFIIA AZL42 S
5,9002 * 14,000 * 110% 90,860
= 44,783
= 46,077
o SJAME FHNA AZL4E S
7,3008 x 502 * 110% 402
= 195
= 207
o 01N FeItA AELLE S
17,000 = 20 * 110% 374
= 180
= 194
o FEINAXIA AIREE(EYH E)
250,000 = 1004 2,500
= 1,200
= 1,300
o HEFe 22 ZdE S
77,000 = 2004 1,540
= 740
= 800
o FEIIA RSMINABANE 2YLY S
70,0008 * 9Y « 23| 1,260
o FUIIA ALEA Y S
8,0008 » 29 * 20 320
202 o4 | 600 1,200 A 600
01 2L HI 600 1,200 A 600
o JHEZFEH JIA XA} 20,000 * 28 x 15 600
A A A2 104,670 176,560 AT71,890
NEAH A=2s &Y 76,180 89,420 N 13,240
201 LBt Y| 52,180 49,920 2,260
01 AP 22| d| 20,256 20,256 0
o MHa 2224 20 (M) S =22
120,000 * 30A 3,600
o XA =8 JIMAHZI =2
80& = 30,0001 2,400
o XNeM SE(HY) 2NN X S M
72,000 * 80JH 5,760
o XA Mg 4 222 & M
77,000 * 1204 924
o SE(MY)2XAN & Z2HEH S AR
=22 250,000 = 1874 4,500
o NLH F4UL S =7 3|
8,0008 » 3% * 128 3,072
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2M: R

HE: NYNE 29
Sl XA B2 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
02 2224 H| 31,924 29,664 2,260
o KYAN =2 SXNA E &2 2EHRZ
4309 * 2,400AH 1,032
o NN SEZ S 52 2H3
2,530& * 4,400AH 11,132
o HUYXNSE HSE AQE AIAAE S
=] 660,0008 = 12€ 7,920
o MUK HSE AQE AIAAEY SAR
= 35,0008 = 12&€ 420
o HYAEE SE2ACIAIAE S 4H|
220,0008 = 12€ 2,640
o JIAHE SYAAE S 24|
4,390,000& = 23| 8,780
202 o4 H| 2,000 2,000 0
01 2L HI 2,000 2,000 0
o NYH Z+ee 5 27
20,000 * 29 = 50 2,000
303 ZA& 2 22,000 22,000 0
01 A2 22,000 22,000 0
o AEAN AL 2 5 - ZNZ 22,000
-3dLg 22| =48 11,000,000& = 13 11,000
- Mg =010 =& 11,000,000 = 13| 11,000
MN2I4=2 22| 28,490 87,140 A 58,650
201 LBt 8,266 7,546 720
01 AP 22| H| 8,266 7,546 720
o Hol+Y HMNF S £42
80& = 12,5001 1,000
o NeLe DXM, Z2H EYH E AIRE2E
72,000 = 480H 3,456
o M+ B4 822 S MA (M4, 22
o) 82,500& = 1204 990
o M2z XANSOIH EE2AMAE 022
72,000& = 10 720
o JIR3E HASINE BHHLY
70,0008 = 5 * 23| 700
o 2DXH NASIHE BALY
70,0003 * 5% * 43| 1,400
202 o4 H| 1,200 1,200 0
01 2L HI 1,200 1,200 0
o Mel+g Z4 ge =7
20,0008 * 29 = 30¢ 1,200
308 AXIEHSOIA 19,024 19,204 A 180
112 2SUHUSHEAEAE AT Y| 19,024 19,204 A 180
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SM: HPD
B NYHE 29
Sol: NYH el 2 E )
SN - FE . B RIS ALES - B S 0l &t o R Hl B E2
o Mel+=g A=
4,756,000 * 43| 19,024
HE=2S 153,542 136,002 17,540
A= 133,222 115,682 17,540
Her 2 32 133,222 115,682 17,540
201 2et24d] 97,142 77,142 20,000
01 At 2teltl 62,142 62,142 0
o UM L BENE R0
150,000& * 1002 15,000
o 2HYR gH EH 2¢
250,000 * 254 6,250
o Mot X gl
61,0008 * 55 = 43| 1,220
o 28 20,000& = 4% = 128 960
o Ltet&H =2 (YF)
20,000& = 540A 10,800
o HATE 2N 7
25,0003 = 1024 « 128 3,000
o UH MEEE F 20,000& = 5& = 12& 1,200
o Heraol Mg
100,000&  10¥ = 53 5,000
o ZAHASR 120,000& = 3H » 20 7,200
o ZBAHAR 20,000& = 20 = 3H 1,200
o ZAHA A} 3 +<2  1,000,000& = 14 1,000
o BHYR |
8,000& * 6H =« 85¢ 4,080
o ZAAM = SE
8,000& * 6% = 55¢ 2,640
o HgH A =4 S
8,000& * 6% = 54 2,592
02 =224l 35,000 15,000 20,000
o Aot A 2SN Z208 /X2
&= 558,000& = 123 6,696
o StAEAL Z208 RIS
346,000& = 123 4,152
o HAEE ISHALAE SAES
346,000& = 123 4,152
o A2 HEESEER
20,000,000& = 13l 20,000
202 04l 4,080 6,540 A 2,460
01 = LH 4 HI 4,080 6,540 A 2,460
o Hzd PR 20,0003 = 4% = 51 4,080
203 R =&l 32,000 32,000 0
03 A F=XH R =AY 32,000 32,000 0
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2M: R
A THarete

el BT 22 (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
-3R 1,400 = 1304 =« 160H » 12& 34,944
- 3egs 1,600& = 1204 = 504 » 123 11,520
202 O4dl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
o ZTEXY SHZRY 2T oY
10,000& * 4H = 100 4,000
405 XtatE SHI 90,000 0 90,000
01 AR ESFH S 90,000 0 90,000
o E2EY UM FL(HRL E:EH)
25,000,000& = 204 50,000
o FESEH(HUE) UM P (HRM)
40,000,000& = 1CH 40,000
S S M At 22 18,420 18,420 0
201 Let24d] 17,020 17,020 0
01 At 2teltl 13,420 13,420 0
o SSML 2FEI==Z 700,000& * 62 4,200
o RN EHx2 700,000& * 6A 4,200
o ZFML A3 Aosg
70,000& * 99 « 43 2,520
o BRI B L B2 APEE
100,000& » 5& 43| 2,000
o IRMY HNRUS ZoA= S
500,000& = 14 500
02 2324l 3,600 3,600 0
o SFMA XNel3EANLAE RXNES
300,000& = 12& 3,600
202 (44l 1,400 1,400 0
01 = LH &4 1l 1,400 1,400 0
o SHFMA AEiEQl 10,000& = 2H » 70 1,400
=32 5,875 5,875 0
201 Let24d] 5,875 5,875 0
01 At 22/l 4,875 4,875 0
© RFID 23&cAAE 2285 L MEES +
o 4,875
- ctEE 3303 * 2,500& » 38 2,475
- HEE 1,200& = 1,000& 1,200
- MEEA S MREES 100,000& * 128 1,200
02 =224l 1,000 1,000 0
o RFID RHelA 2IHI =6 | X
200,000& =« 5CH 1,000
EAr2tel 3,608,793 3,856,432 A 247,639
AN 22 1,005,793 1,003,256 2,537
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2M: R
A THarete

Chel: FAt2tel (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
101 14 Hl 53,723 51,186 2,537
04 JIZHHZ22XREES 53,723 51,186 2,537
AL g2tel JIZEHMZ2 2R elAh]
9,160& * 1% = 209AI2t » 12& 22,974
AL g2el JIZH22A =n2RE
9,160& = 2A12F = 3002 * 150% 8,244
A gztel JIZHZ221 AHEH
22,974,000 * 12% 2,757
AL g2tel JIZEHM22R &2 Z
1,914,440 * 14 1,915
FArZtel SAIZZ2I 1A
9,160& * 1 = 104AI12t = 128 11,432
HArZe SAZ2E2X Zu2esd
9,160& = 1AIZt = 300 = 150% 4,122
ArZtel SAIZ2Z2R AWEE
11,432,000& * 12% 1,372
FArZel SAZ2ZZ2R EAF
906,880& * 14 907
201 L2l 885,670 885,670 0
01 At 22l 144,928 144,928 0
A et zte E4 35,040
- At &Dojetd el 4 800,0008 » 128 9,600
- A Agord el 9 470,000 » 128 5,640
- AL HEotE e gH(2F, H)
1,400,000& * 128 16,800
- A S Mg 24
250,000& = 12& 3,000
A gHAS 500,000& = 83l 4,000
NSO E HA &« &K MA
3,000,000 = 13l 3,000
222 AFZ2(OOHE) 2 AL 3,000,000& * 13 3,000
AN 2H FLAEY 2,500,000& = 23| 5,000
AL S2FEHE Z, 32 ¢
150,000& = 108 » 12& 18,000
AN HL D 5,000,000& = 43| 20,000
gio, 82 gxg K=
1,200,000& * 123 14,400
Faze 2372 32,848
- A StEA EA TN 2 Y
300,000& = 12& 3,600
- A ZelE M Y
1,000,000& * 42| 4,000
- A 228 MYdIEsg 2
1,040 = 25000 = 123 3,120
- A SHEA SEX FY
850,000&  12& 10,200
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2M: R
A THarete

& FArzel
SA - ZE-B(EN) - NRAY - B S il &t o il
“EN 524 sCEE 7Y
350,000& = 12& 4,200
- A BZA wEH 7Y
8,000& = 1801 » 123 1,728
- BA ZF4 5%, =l 2
500,000& = 43| 2,000
- BM(Z,89) &= Hals 2EI| 7¢
8,000& = 5004 4,000
o 2= 2 A 2eltl 170,000& » 12& 2,040
o BEAN BEAYSBY XX
1,000,000& * 13| 1,000
o FAZed YgetEF ¢
200,000& = 3Y « 23] 1,200
o SRMA X IANALYR = SEH
8,000& = 5% = 135¢ 5,400
02 =224l 740,742 740,742
o AN HIIR= 181,056
-Jlgs 8,320& = 900kw *» 12& 89,856
- AB= 95& =+ 80,000kw » 122 91,200
o 228N B2R3 35,000& « 12& 420
o A Motk 23 17,893
-JlEs 27,050 « 12& 325
- AMEE 1,220 = 1,200€ * 123 17,568
o XNYME Xl 450,000,000& = 13l 450,000
o A 2 M2 1,000,000 * 2CH 2,000
o HAF HHEDI] 9,000,000& = 14 9,000
o A AMEZFEH sl 3,000& = 8,453m’ 25,359
o FA HE ¢ 780,000& = 204 1,560
o FA Z2E+ HSoll M
2,000,000& = 43| 8,000
o AN XZ+ 8F HY 7,500,000 * 13 7,500
o HHEAUY TANNARS 37,954
- ZEAMN ZAIA MEZ
1,012.06& = 35,000m 35,423
- ZAb A AHEBE
1,012.06& * 2,500m" 2,531
202 04l 2,400 2,400
01 =2 LH Yl 2,400 2,400
o TRUL L HARYL 27
10,000& = 3H = 80 2,400
405 THobH S| 64,000 64,000
01 AL EFH S 64,000 64,000
o A =2HIS LA 40,000
- L% MPZEU M+ 500,000& * 20% 10,000
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SN TS

EESREPY,

ool 3

ot
srztel
Ab2tel

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
-5 ok E WM 300,000€ = 100¥ 30,000
o FHAAFA HS F7¢ 3,000,0008 » 8JH A 24,000
MES A OFRD] 330,000 280,000 50,000
401 Al HI L 204 HI 330,000 280,000 50,000
01 Al&H| 330,000 280,000 50,000
o HA FE ALSE BE5 Z2A
250,000,000 = 1A 250,000
o Al AR A &AHAFHH| 50,000,000& * 14 50,000
o = ALY S FAI BEXEZ2AF AAIAE A
3,000,000& = 10902 30,000
SS9 FHAZCZ 273,000 268,000 5,000
401 AlEHIZL 2 0HY| 208,000 213,000 A5,000
01 Al&H| 206,000 211,000 A5,000
o SH MASAHE SAIEE B
6,000,0008 * 1154 66,000
o MNMH HMEXMHE EIDANES B
30,000,000& = 14! 30,000
o MHH FXNE L HisEBEZ B
60,000,000 * 14! 60,000
o LU HE=NME B Pa
50,000,000 * 14! 50,000
03 AlE 201 Y| 2,000 2,000 0
o g% HY=NME B4
2,000,000& = 1A 2,000
405 Ko SHI 65,000 55,000 10,000
01 AL 2 ZF S| 65,000 55,000 10,000
o g ¥ HYSNME & NRHE S 7Y
5,000,0008 * 1154 55,000
o NMHES HZ¥EXNME A WX
10,000,000& = 14 10,000
OIS HAI &= 500,000 1,050,000 A 550,000
401 Al HI L 204 HI 500,000 1,050,000 A 550,000
01 Al&H| 400,000 1,050,000 A 650,000
o 2|3 HAH M=F ZAHH]
400,000,000& = 14! 400,000
02 2teld| 90,000 0 90,000
o AsALALBRASY Ll
90,000,000& * 14! 90,000
03 Al 201 Y| 10,000 0 10,000
o 9|3 HAL M=FE ZAF 20iH|
10,000,000& = 1A 10,000
S H #HA=SIHEYH A A= 1,500,000 1,255,176 244,824
401 Al HI L 2 0HHI 1,500,000 1,255,176 244 824
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2EAM: R
M Tarze]
Chel: FAt2tel (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 A& HI 1,500,000 1,200,000 300,000
o =01 BEEXME A= BA|
1,500,000,000& * 14l 1,500,000
HE2ABU (HR) 180,199 176,249 3,950
= 21,504
s 158,695
ol 2| 118,399 115,769 2,630
= 21,504
s 96,895
ol 2| 73,599 72,853 746
101 1A bl 73,599 72,853 746
01 2=+ 73,599 72,853 746
o A2t 224y
10,9523 = 23H » 20AI2H » 123 60,456
o A2S 2R4AY(RHTLH)
10,9523 = 5H « 20AI2H » 123 13,143
HE =& DbA T A 14 K& 44,800 42,916 1,884
= 21,504
[ia 23,296
101 1A Hl 40,000 42,916 AN2,916
= 19,200
[ia 20,800
03 2R (RIAHA)2Z2NHE S 40,000 42,916 22,916
o 2= 1,900,000& » 1H » 128 22,800
= 10,947
e 11,853
o XN 160,000& » 198 = 128 1,920
= 920
[ia 1,000
o s 40,000 * 1 = 128 480
= 230
s 250
o J|Y=g 1,900,000& » 1H * 400% 7,600
= 3,648
[ia 3,952
o F2=¢ 1,900,000& = 1H = 23| » 30% 1,140
= 547
e 593
o YEFIEl  1,900,000& = 1H = 23| » 60% 2,280
= 1,094
[ia 1,186
o NzZte2fs%
15,000& = 1% = 15A12t = 128 2,700
= 1,296
[ia 1,404
o HItEAHl 9,000& * 8AIZt » 1H + 15¢ 1,080
= 518
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